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GUJARAT TECHNOLOGICAL UNIVERSITY
DIPLOMA ENGINEERING -~ SEMESTER - 3 * EXAMINATION — WINTER- 2016

Subject Code: 3332405
Subject Name: Linear Electronic Circuits
Time: 10:30 AM TO 01:00 PM
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Attempt all questions.
Make Suitable assumptions wherever necessary.
Figures to the right indicate full marks.

Use of programmable & Communication aids are strictly prohibited.
Use of only simple calculator is permitted in Mathematics.

English version is authentic.
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Answer any seven out of ten. £2HIl SlEULL Ulcloll et W,

List any four types of linear IC packages.
N A AUR YSIR ol IC Uk AU,
State two advantages of ICs over discrete circuits.

IC il Slesle uRsle ofl WRel Hi A $lAEL AW

Write full name of SSI, MSI, LSI and VLSI.
SSI, MSI, LSI A\ VLSI all YA ol A,
Draw pin diagram of IC 741 op-amp for DIP.

IC 741 30U AU oll Ulot SL2UUH DIP U¥% HI2 €1RL.

Give classification of feedback configurations.
gls As AUl of ao(ls20 52A.
Define: input offset voltage.

Botye vlsAe ARy culvAlRld 53,
List applications of comparator.

s10222 ofl GuA(l Awl.

Define : CMRR

CMRR ofl caitvail A,

What is operational amplifier?
AR Arcllslar 9 82

Define input resistance of an op-amp.

AU AR ol Botye AR ofl cautvaul L.

Draw four-stage block diagram of OP-AMP.
OP-AMP ol 1R % oll 6clls SIALUH ELRL.

OR
List any three characteristics of ideal op-amp.

e OP-AMP ol 21N A 2L cllel@sdl L.

Define: 1. Slew Rate, 2. Noise
1.3 2 el 2. oAlsY ofl cautuul wl.
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OR
Draw circuit of open loop inverting amplifier and non inverting amplifier.

AUt U Bl A ollot Salol AnellglaR ofl uzsle €L

Derive output voltage equation for closed loop inverting amplifier with neat
sketches.

scAls U dadlol Ancllglar €131 Aell M2 uBaye Ay of Y

AR,

OR
Derive output voltage equation for closed loop non inverting amplifier with
neat sketches.

sAS QU allot Balol Anellglar €131 Aol 1R WGaYe AR df

YA dlRdl.

For the op-amp supply voltage rejection ratio SVRR is 250uV/V. Calculate
the change in this opamp’s offset voltage if the supply changes from £10V to
+12V.

AU AU HEZ2 el ARy Awselet A SVRR 250puvV/V B.
U AU HL % AL AR +10V Ul +12V scllHl 1A dl Al

USA2 ARy ol tectdd ofl (Bud .

OR
Determine the output voltage in case of open loop differential amplifier having
Vini=5uv dc and Vip,= -7pv dc, supply voltage £15v. Assume: A=200000,
Ri=2MQ, Ro=75Q, output voltage swing==+14V.

A Uet U (3g20acd ARAlSI2AR Ui Vip=5pv dc el Vip=-7pv de,
Al ARy +15v sl L AUBaye cleee Wul. Assume: A=200000,
Ri=2MQ, Ro=75Q, output voltage swing==+14V

Draw circuit of Transistorized differential amplifier.
2lPeRsns (352l AnellsiaR ol ARsle €L

OR
Prove inverting terminal is at virtual ground in closed loop inverting amplifier
with necessary circuit diagram.

sAl%s du Badlol Ancllglar Ui sadlol gatye A dRjUd WEGS
ala 8 A Alelld 5A ua Asle €RL

Derive the output equation for current to voltage converter with neat sketch.
522 Il ARy 50 oll ASle E1F Aotl WGy of Yo ANl

OR
Draw circuit of closed loop differential amplifier with one op-amp and write
output equation for that.

As AU AU aloll sclrs qu (Bg2lacd Arcllslar o u8le €RL

Aol Aol AUG2Y2 of Y2 AU,

Draw circuit of closed loop inverting amplifier with external offset voltage
compensating network.

Agleoldd AUsA2 Al 510AL Aead aldll scdlos gu sadlat
Andlsiar ol wRsle €.
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OR
Draw the circuit of AC inverting amplifier with single supply. Also draw input
and output voltage waveform.

A Scadlol Aellglar ol Aot At ctoll ¥R8le €L dat Aell

Balye ol WBaye Al ol dasli ual €.

For the closed loop non inverting amplifier draw circuit and compute the
output voltage Vo if Vin=1.2V DC. Assume: A=400000, R1=1KQ, Rf =
7KQ, supply voltage=+15V, maximum output voltage swing=+13V.

sAl»’s U ollet Sl Ancllsiar ol USle R dal wBe ye

AR Vo ofl (BHd 2 »2UR Vin=1.2V DC &lal. Assume: A=400000,

R1=1KQ, Rf = 7KQ, supply voltage=+15V, maximum output voltage
swing=%13V.

OR
For the closed loop inverting amplifier draw circuit and compute the output
voltage Vo if Vin=1V PP Sine wave at 100Hz. Assume: A=400000, R1=1KQ,
Rf=4KQ, supply voltage=+15V, maximum output voltage swing=+13V.

sAls (U 8adlol AndlsiaR ol Asle €RL dal wWBe Y2 AR

Vo ol (BHd 200 2R Vin=1V PP Sine wave at 100Hz. Assume:

A=400000, R1=1KQ, Rf = 4KQ, supply voltage=+£15V, maximum output
voltage swing==13V.

Derive the output equation for voltage to current converter using grounded
load using with sketch.

AUBIS Als WA oll Al Ul 522 s ol uSle 13l AstimuGeye

HI2 of YA dARdl

OR
Draw the circuit of Instrumentation Amplifier.

BotgHE oot AnclglaR ol asle el

Derive the equation of summing amplifier in inverting configuration with neat
sketch.

Badlol slglogralet 1L AHloL Anellglar ol uRsle €131 Yot Andl,

OR
Derive the equation of summing amplifier in non inverting configuration with
neat sketch.

ollot Haidlot slglogRatet 1L uH{loL McllsiaR ofl uRsle €131 YA
nadl.

Derive the equation of closed loop differential amplifier using two Op-Amp
with neat sketch.

A AU A alofl sdlass qu Bg2llacd Acllslar ol wRsle €71
Aol Aol AUG2Y2 of Y2 AAdl.

Derive equation for integrator using neat sketch.
82132 ol Usle €13l Ag Yot Andl,
Draw the circuit and input output waveform of zero crossing detector.

BA s1{loL Sl2seR ofl uSle e Betye wiBaye Adsl Rl
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Draw circuit of binary weighted D/A converter.
w2l A2s D/A 5aéR ol usle ERL
Draw circuit of successive-approximation type A to D converter

UsAY el ADs A2t 2lsu A g D 5ae? ofl wsle €L
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